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Q1[A1]

PO as directed. (Any 3)
i

- - Make 5 meaningful sentence b i i
Az - m Y using the ! -
.,H./ They decided to watch a movie in theg;evengilwen - o &y

~ (Pick out an infinitive from the gjy 4
. where are you goj given sentence )

V. He is having two co
Q1[A2] p, x

[I._Use the word ‘play’

rb in your own sentence e

g/l:;h;]lgg was a pretty and charming girl, born, as if by an error of fate into g family of clerks
NO means of Wown, understood, loved or be wedded to an aristocrat:
and so she let herself be married t i i inis ey

She dressed plainly, because she
endlessly, feeling she was entit|
| shabby, poorly furnished house.
| even have noticed, tormented h

@ former schoolmate at the convent, whom she avoided visiting,
because afterwards she would weep with regret, despair and misery.

- | One evening her husband came home with an air of triumph, holding a large envelope in his
| hand. “Look,” he said, “here’s something for you.” She tore open the paper and drew out a

| card, on which was printed the words. ’

| "The Minister of Education and Mme.Georges Rampouneau request the pleasure of M. and

| Mme. Loisel's company at the Ministry, on the evening of Monday, January 18 .” Instead of
seing delighted, as her husband had hoped, she threw the invitation on the table resentfully,

and mu red, “What do you want me to do with that? And what do you expect me to wear if

"He hadn’t thought of that. v

4

ered, “Why, the dress you go to the theatre in. It seems very nice to me ..." He

A
=

T t sk swered hesitantly, “l don't know exactly, but | think | could do it with
four hundred francs.” . =

He turned a little pale, because he had been saving that e>_<act amount to buy a g_un“{jr a
hunting summer, in the country near Nanterre, with a few friends. Ho_wever, he said, “Very
well, | can give you four hundred francs. But try and get a really beautiful dress.

i ' . -+ (02)
Al Complete the web:

Drawbacks
of being
born into a
family of
clerks




AT,

Mathﬂ?e Was a pretty and charming girl. (Ideny;
Underiined words.)

¥ the parts of speech of the

- Personal Response Wh
Y do you think Mathilg ? (02)
Read the . 2 e suffered endlessly
following extract and do the given activities
e———
Life, believe, is not a dream, e
-So dark as sages say;
Oft a little moming rain
Foretells a pleasant day:
Sometimes there are clouds of gloom,
But these are transient all;
If the shower will make the roses bloom,
Oh, why lament its fall?
Rapidly, merrily,
Life’s sunny hours flit by,
Grateiully, cheerily,
Enjoy them as they fly.
Match the words in column A with their opposites in column B :
l A B (01)
i. gloom a. slowly
__ii.__ transient b. happiness
S C. permanent
'we do during joyful times in life? (01)
plain the figures of speech: " Life’s sunny hours flit by,” (02)
e avine poem and write an appreciation of it with the help of the given (05)
; fermat: i, Rhyme Scheme
tit t of the poem . ym _
:};gglezg'oe A iv. Theme / Central idea
se n....?

en a sheet on a river bed?
om a hammer’s head ?
| Has bt of a mountain any toes?
And is there a pair of garden hose?
/Does the needle ever wink it§ e_ye? - |
Why doesn't the wing of a buuldmgI ;Iy.
Can you tickle the ribs of a paraio !
Or open the trunk of a tree at all?

. o
Are the teeth of a rake ever going 1o b_lt(-; t p
Have the hands of a clock any le(ejftdor ;n;; 7
ark”
den plot be deep an :
222 \t/:\:ast;?sr the gound of the birch's bark?
n

- Anonymous

2
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Read the following passage and do the activities : S
Fireflies are beetles and go through several life stages, starting out as an egg, then
h?tching into larvae. At the juvenile stage, they turn into pupae and then finally adults.
Firefiies spend most of their lives in a larval stage, hidden away. There aré 2000

different species of fireflies. But they all go through a long juvenile sAage and a short

adult life, which is mainly about courtship, mating and reproduction. The juverles ivng

underground or underwater, are very different though-they're hunters. they eat snails
and soft-bodied insects and they have very different habitats.

Conserving them is essential for human life as fireflies are a key part of the food web

They are predators of agricultural pests. In tarn; they are prey for spidérs and other
e They arecompletely enmeéhed in the web-of life. In a4ddition about 70 years
ago, scientists unravelled the mystety of fireflies light-producifig talents Since then, the
bio-chemical reactions that fireflies experience have been used in detecting bacterial
contamination in foods, testing drugs against cancer, developing drought-resistant
crops. They have been used in space exploration. So fireflies give us beauty and
inventions. Fireflies carry oxygen, calcium, magnesium and a natural chernical called
luciferin. These re act together to produce the photons. This is how the fireflies glow.

Firefly tourism is growing across the world. In Maharashtra, for example, a particular
species monsoon fireflies, emerge before the rains. They're beautiful and a festival is
held in Purushwadi, encouraging firefly tourism. Its wonderful that people around the
world go to see fireflies in their natural habitat. We need to be cautious. Too many
people can disturb adult and larval habitats. Fireflies need darkness to communicaie

with each other and we need fireflies because they are harbingers of hope. |

!
—

(02)

‘: Al \Write two reasons for the conservation of fireflies.
| A2. Make antonyms of the following words using prefix: (01)

natural x ii. experience X -—————""""
(02)

Do as directed: :
i. Too many people can disturb adult and larval habitat. (Rewrite using ‘as well as’)

ii. These reacttogether to produce photons.
(Pick out the non-finite verb and state its kind)
Can you think of any other insect that teaches us some values of life? (02)

Explain with examples.

Letter Writing. {05)
Plastic pollution causes gre
pollution. Since plastic is not degradable, it s
o kills lakhs of animals including aquatic anima
' releases toxic gases into the environment.

[A1] INFORMAL LETTER
u are Karan/Kiran residing at 103, Sundar Milan, M. G. Road,Nagpur. Your aunt never
kes a cloth bag for shopping, always getting plastic bags for her groceries etc. Write a
her using the points mentioned in the above snippet. Also, add your own points.

OR

[AZ ETTER
You ran/Kiran residing at 103, Sundar- Milan, M. G. Road, Nagpur. Vrite a letter t©
the editor of the local newspaper asking them to spread awareness about the need to
avoid plastics. Use points from the above snippet as well as your own points. /
Q6[A1] Prepare a speech to be delivered in your school asser..bly on the topic (05) /
"Giving is Receiving'
Use the Tollowing points:

i makes us feel happy

il. promotes co-operation and social connection

ii. develops feeling of contentment

iv. develops feeling of empathy

(o]

at harm to the environment causing air, water and land
tays for millions of years. Ingesting plastic

Is. In addition, burning of plastic in garbage

Q6[A2] News Report:
Prepare a news report based on the following "Government encourages classrooms to

go digital”.
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Q1.(A) Complete the statements choosing cz(r)rEZt option from the ket:
1. Aavahan s written on the backdrop of Sino-Indian war by the nl;:del\tll. thi
5 TS‘a) Narayan Gupte (b) Kusumagraj (¢) G.D. Madgulkar (d) NamdaraDrlm poelt -
. The Na_xall.te Movement starteq at Naxalbari in district i
, (a) Darjeeling (b) Bishnupuyr (¢) Hojai i
Q1.(B) Identify the wrong pair: (d)Tuensang
A) 1.Powada - Oral Sources <
2.Documentaries - Audio Visug| Sources
3.Coins - Materig| Sources
4.0wis - Archaeological Sources
B) 1.1973- Anandpur Sahib Resolution

2.1954 - NEFA became Arunachal p
Sy al Pradesh

20 areas got the status i i
o g of Union Territory

l
|
izo Nationa| F t b !
lonal Front was esta lished
Q2.(A) ?omplete the concept chart -(any one) ‘

5 (02)

Q2.(B) Write short notes on: (Any one) ‘
1. Museum

Q3. °  Explain the statement with réaso

: (02)
| 1.The army had to be sent into the Goiden Temple in Amritsar
| 2.We should fight communalism with all our strength.
‘“‘*\fﬁl,ﬁ Answer the following questions in detail:(Any one)
1. How was 1991 a year of important changes in the histo
2. Which demands were put forward through the ‘Anandp
Akali Dal? '
Q5. -°  Choose the correct option: : (02)
1. A system of independent and sovereign states,_____a_?_‘.
(a) Political system (b) International system _ (c) Social system (d) None of these
2. The policy of Perestroika means restructuring and Glasnost means
(a) strictness  (b) oneness (c) massiveness  (d) openness .
Q6. Explain whether the statement is True or False with reasons:(Any one) (02)
1.The League of Nations was established after the First World Wa!r. _ .
2.The policies of Mikhail Gorbachev gave an impetus to democratisation. (02)
Q7. Explain the following concepts:(Any one) : :
1.Creation of military organisations SR Y,
b3 2.Non-alignment . - A &
g Answer in brief:(Any one o ' \f
b 1.What were the tsactgrs reéponsible for the end of Cold War?
/ 2.What major changes occurred in global politics after the end of the Cold War?
.’W

(02)
2.Jal cooper i
ns:(Any one)

(02)
ry of the world and of India?

ur Sahib Resolution'’ by the

GEOGRAPHY '

' i

' }

\ Q1. Complete the statements choosing correct option from the brackgt: (04)
! /" 1.1n dot method, urban population is shown by__. 1 .

' ) (a) circles (b) dots  (c) squares  (d) lines :

« 2. Black Forest Mountain in Europe is a mountain.

A

7 _SSSEG—

s 4
' - - : — - ‘ AT TR
N T SRR ., N
; i
s T e P N — T —— e




/\ (2) fold (b)-residual (c) block (d) ancient ; »
3. When a portion of the crust between two parallel faults is raised up, it is call d a
mountain.
E (a) block (b) fold (c) residual  (d) ancient
4. One of the main functions of the economy is to the production cost.
3 (a) maximize (b) inflate (c) increase (d) minimize
Q2. Answer in one sentence.
1_.What are Thematic Maps?
2 What is point related data?
3. What is a Focus or Hypocentre?
4 What do you mean by 'Globalisation'?
Q3. Read the map given and answer the questions.(Any four)

; T T T
l e > AR v dowrmpe AUssreerasl Peridaatash 5

T ln which dlrectzon is the ralnfall more in the dlstrlct’?
2.In which direction is the rainfall decreasing?
3 Which class shows low rainfall category in the district?
4 Which class shows high rainfall category in the district?
5.Which method has been used in making this map?
Show the epicentre, focus and the primary, secondary and surface waves
of an earthquake with the help of a neat labelled diagram.
~ Give geographical reasons.(Any one)
1. The Bamren Island is becoming conical in shape.
=2 ln:ia's  economy is of-mixed type.
swer in brief.(Any one)
%ain the use and types of distributional maps.
Vhat are the effects of earthquake on the earth's surface and human life?

Fhhkxkkkk *hkkkikkik Feddkdkkkikd ki ik

’
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(04)

(04)

(02)

(02)

(04)
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ii)) %e.ntr?lgz\, ? 7y G —-—__8)-3 b) 11 (02)
a) 2"0 angles formed by the transversal of two parallelcl)' : o
Q A b) 4 c) 8 d) 16 ines is /

1[B] Solve the following questions

i) yvme the conditional statement for the following: i
i The opposite angles of g parallelogram are conéruent ‘
1) In AABC, 24 = 60° and 25 = 400 find2c?
Q2[A] Solve any 1 activity from the followir
v D)If A-B-Q and d(A,C) = 17, d(B,C) = 6.z‘>gthen d(AB) =7 e
| Solution: d(A,B) + d(B,G) = ' '
! ~d(A,B) + =17

———

; ~d(A,B) =17 -

"1 ~d(A,B) = units

. i) Given_ line I Il line m and line n is the transversal
: To prove: 24 = «¢C
\ Proof. <24+ ¢B =

........ (1)(Angles in linear pair) -
B + SR8 (2)( )
2A+ 2B =/B+ L o (From 1 and 2) <

~ ZLA=¢sC -
Q2 [B] ~ Solve Any 2 from the following :

i)line p lline q and line r is the transversal.
ii) 24 = 80° then find 2B and <.

ii) Ifd (A, B) = 16, d(C,A)= 9and d B,C)=7 " /b
then state weather the following points are collinear.

iif) Write the converse of the statement
‘If a pair of interior angles made by a transversal of
two lines are supplementary, then the lines are parallel.’

Q3 [A] Complete any one Activity : - -
i) In the figure, If ray BA Il ray DE, +¢ = 50°, 2D =100°. Find mzA4BC.
(Draw a line passing through point C and Il to line AB)

Solution: ray CF llray BA ......... (1) Construction I B
. ray BAllray DE ......... (2) Given
' ~ray CFllrayDE ........... from (1) and (2)
‘ ENAEDEE~ . ........... Alternate Angles <.
& LEDC = £FCD = F) \C
~ LFCD = + £BCD (A
~100° = LFCB + £ 1 \
~ LFCB = 50°
Ray BA Il Ray CF and BC is the Transversal
~ LABC + £FCB =180° .......... ( )
. LABC + 50° = 180°
~ LABC =
ii) Poi i midpoint of seg AB. If AB = 10, then find the length of AC.
D nglltufi;t:rgoint 8 isthe_ ~ of ABandI(AB)=___ ... Given
=~ I(AC) = X
: = 4 X

£ 2
: AR =L SRR

1 of the following: A :
Q3 [B] SOl\(I;%:s?uct APQR in which QR = 4.2cm m<Q = 40° and PQ + QR = 8.5cm

= - = 2.7cm.
ii) Construct AXYZ such that YZ = 7.4cm, £XYZ = 45° and XY - YZ = 2

; 1 of the following : e
R gOI\C,)Zth)r,uct APQR in which 2Q = 70°, 2R = 80° and PQ + QR + PR

=11cm.
ii) Construct ALMN in which £M =60°, 2N = 80° and LM + MN + LN
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Q1 ()

Q2 (A)

02 (B)

Q3 (A)

Q3 (B)

Q4

Q1 (A) Choose the correct alternative & rewrite the statements. (02)

1) 1.Which of the following is a surd?

a) ¥s1 b)¥251

2) P={x|x=2",n €1} thenPis___
a)an empty set b) an infinite set

c)V16 d) ¥125

c) a finite set d) singleton set

Solve the following questions.

(02)

1) IfIf A = {1,3,5},B = {2,5,7} thenwrite AN B

2) State the order of the surd ¥v10

Complete the following. (Any 1) (02)
1) Write the following numbers in § form: 29.568| 2) Find the value: |7 —2x | =5

Solution: Let x = 29.568 Solution: 7 —2x = +50r 7 — 2x = —5

So, multiply both sides by 1000. n—=2x=5—-17 or —2x=-5-7
~1000x=[____ ] —2x = or —2x=[_]

- 1000x — x = 29568.568 — 29.568 nx== or x=22

2999x =[] .x= 9—%] Ans.x =[_Jorx=[_]

Eeg— —1

Ans.29.568 = —

Solve the folldwing questions. (Any 2) (04)
1) I n(A) = 35,n(B).= 40 and n(AUB) = 50, then find n(A N B).

2) Rationalize the denominator Tl

3) Take the set of natural numbers from 1 to 20 as universal set and show set X using Venn
diagram. X = {yly € N,yisa prime number from 1 to 20}

Complete the following. (Any 1) : (03)
1) Observe and complete the following 2] Multiply: (3v2 — V3)(4V3 —V2)
@MAUB={ } | Solution: (3V2(4V3 —V2) —V3(4V3 —V2)
(A={ } ; 4|V (BV2[]-3vV2xvV2-vV3x[_JV3xv2
(i)AUB)' ={ } | B 12V ]=3V2x2-4V3x3+vV [ ]

(iv) AnB={ } L 12V6 — 3% 2—4x 3 +V6

(v) (AnB) ={ } 12V6 -6 | +V6

b il 9 o
(viyB={ } 11 13 12V6 + V6 — 6 — 12 =[_N6- 18
Ans: 13V6 — 18
Solve the following questions. (Any 1) (03)

1) In a school hostel, there are 100 students out of which 60 drink tea, 50 drink coffee and 30
drink both tea and coffee. Find the number of students who do not take tea or coffee.

P g . : 12
2) Rationalize the denominator: P R

Solve the following questions. (Any 1) N (04)

1) Out of 100 persons in a group, 72 persons speak English and 43 persons spe:l}( French.
Each one out of 100 persons speak at least one language. Then how many speak only English?

How many speak only French? How many of them speak English and French both?
2) Solve the following: i

A) Write the following rational number into decimal form: 1?7
B) Classify given pair of surd into like surd and unlike surd: 4vV18, 72
, \

“ o
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Q1 .
Answer the following questions. o 1

1) The speed of revolution
revol . :
2) State law of constant pmportmnOfm‘e oo the sun s abou

3) Wite the symbols of following elements: a

o
4) How many numbers of molecules present o ikb) Coppar

S el T in one mole of a subst ?
Tue or False. C i 2 jon is ca
A ‘ orrect the statement if false- Deceleration is called as positive

— (0 up)

Q2 Answer the following questions. (Any 3)

1) Classi i icals i
) Classity the following radicals into 2 types While doin

charge on them: Ag’, Mg™*,CI, SO, * Fe?*, CIO, - NH. -
2 A A . - 2 " 2 NH‘ ; - NO- -
2) Difference between Speed and Velocity. N0,

3) Write the steps in deduci i i
ng the chemical formulae of Sodium Sul
4) A gun recoils when a bullet is fired. (Give reason) B

Q3 Answer the following questions. (Any 3)
1) Complete the above table and write the name and molecular mass of the compound.

g this use a criterion other than the sian o

()]

Y

(8]

No. of atoms

Motecule Constituent ) in the e Mass of the
elements Alomic mass | molecule 2 constituents

A B

Ca =5
‘ 5 rbon T
22  lowgen 15
Molecular mass [

2) Derive an equation describing the relation between velocity and time with the help of grach.

3) Answer the following with the help of above diagram. Explain the procedure, observation and
inference of above experiment.

i the same line in the
ses of 50 gm and 100 gm and they are moving along the ¢ :
" za?:gsdti‘rigi;:\a:ﬂth velocitigs of 3 m/s and 1.5 m/s respectively. They collide with ea‘ch qmefr
an after the collision, the first ball moves with a velocity of 2.5 m/s. Calculate the velocity 0

the other ball after collision.
SCIENCE 2

Q1 Answer the following questions. as their food.

s : nsumers use
1) Fill in the blanks: Secondar){J )cl(-’l el o) Saprophytes

2) Write correlation between g
i) gtiwte e%(:rg;:)lf's:;;:nég:%;l}zléoggﬁmzm if false: Male and female flowers of gymnosperms are
ate -
: on different sporophylls of the same plant. -
5) Name the scientist who classified kingdom :

i tions. (Any 3) '
At X hg\?:irc:'\‘?l,:i?yqbl;vsveen the plants of the groups Thallophyta, Bryophyta and
1) ;\tlgsdlosphyta irespective of differences in their body structure?

%) GAmpl Thallophyta : grow in water :: : needs water for reproduction

(06)

J‘_—_—‘_———( .

n."' —




e ——

4
)
2) Label t,h° following diagram. 3) State the difference between Flow of nutrients and Flow
of energy in an ecosystem
4) The gaseous cycle is 2 speedier cycle than the
sedimentary cycle. Give reason.
I-», B s— -
Q3 Answer the following questions, (Any 3) (09)
1) Complete the following Chart:
Organisms
| 2) a) Draw a neat labelled diagram of
| Nitrogen cycle.
Eukaryotic b) Nitrogen is important for all living
e tywte 1 organisms. Explain
l [ =y 3) Sketch, label and describe the Spirogyra.
Uguulﬂ Multicellular
’ Without cell vall
With cell wall 1
: X :
% Hﬂ.roIophlc
3) Complete the following table:
eochemical Cycle Biotic Process Abiotic Process
Carbon Cycle
Oxygen Cycle
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